Model of Full Sentence Outline

|. Man-made pollution is the primary cause of global warming.
A. Greenhouse gas emissions are widely identified by the scientific community to
be harmful.
1. The burning of coal and fossil fuels are the primary releasers of
hazardous greenhouse gases.
2. Large scale cattle ranching operations emit substantial greenhouse gas
in form of methane.
B. Greenhouse gas emissions are an evolving problem due to “stacking” of
various gasses effects.

II. Natural sources of pollution must be accommodated when setting greenhouse gas
limits internationally.

Notice: If an A, then a B is required. If a l.,then a 2. If you cannot create a
second subordinate, then you must rewrite the superordinate idea to contain it.
The outline above is a model of outline structure. Your outline will be
considerably longer and complex.

Full sentence outlines are often accompanied with an APA reference list on a separate
page.

Quotes within the outline must also utilize APA in-text citations.



